Anx B - Work Completion Report

| Company | GVRC | | Name of contractor | T.Kurmanna | | CI No site | 1.31. | | , |
|--|---|--|--|---|--|---|--|---|--|
| Project/site | Innopolis | | | | Sl. No. site bills reg | | | | |
| Block no. | 33 kva substation Work done from date | | Excavation | | Dt. site bill | CONTRACTOR OF THE PARTY OF THE | | 19-04-2025 | |
| WO no. | NVII SUOSIL | W. 1. 1. M-codex bill ID. | | the specific of a rest parties to the state of the state | | 044 · · · · · · · · · · · · · · · · · · | | | |
| WO date | - | | Work done to date | | | WO issued | ? | | |
| The Account Advantage of Personal Production and Production of the Control | TI 1.10 | | Contractor bill no. | | | GST bill re | quired? | | |
| Sl. No. | Unit/floor no | | Details of work | | Qty | Units | Rate ID | Rate | Amount |
| 1 | 33 KVA | No.of labours work | ed from FEb 2023 to 12 ju | uly 2023 | | | | | |
| 2 | | Male labour | | | 40 | No's | MP137 | 600 | 24,000 |
| 3 | | Female labour | | | 40 | No's | Mp138 | 550 | 22,000 |
| 4 | | Compressor rock breaking | | | 18 | Hr's | HIR126 | 600 | 10,800 |
| 5 | | Hitachi breakers worked fo | r rock cutting | | | Hr's | HIR106 | 2200 | 22,000 |
| 6 | | | | | | | - Initioo | 2200 | 22,000 |
| 7 | | | | | | | | | |
| 8 | | | | | | | | | |
| 9 | | | | | | | | | |
| 10 | | | | | | | | | |
| | | | | | | | | | 0 |
| | | | | | | | | Total | 78,800 |
| | | | | | T | 0401 | | | 0 |
| Remarks: | | | | | 1 | otai amount | including taxes fo | r work done | 78,800 |
| Approvedlp | PRIONED | BY | Approved by QS team | | | A 11 | P | | |
| Sign: | 9 APR 202 | | Sign: | | | | y Director/E&D tea | m | |
| Date: | 9 APR ZUZ | Date: | | | Sign: | | | | |
| Notes: 1. This she | eet replace APHULA | expreport and advice for credit to con | tractors, 2. This word form must be | typed 3 Heathia farm | rom if such and | Date: | | | |
| entered above, 5, include – Soham, bill). 10. Contract | Anand Mehta (for ottors to send scanned | Ber than 10k QS manager and director GHT + GMR), Sachin (for Vivopolis), copy of bill to site and QS by email. | ns approval is required. 6. For bill a B. anand Kumar (for NGH + NRH 11. Contractors must submit origina | umount less than 10k any (K). 8. Entry of rate ID is nal bills at HO (can be sent | CI II WORK ORDER IS NOT ISSUED QS team member may sign and andatory. 9. This sheet must be by courier). | . 4. Attach measu I in place of direct oe sent within 2 v | rement and estimate sheet for sign of respective E&I working days of work comp | s only if required i.e., member to be taken pletion (with or witho | details cannot be a. 7. Director out contractors |

| STIMATE SHEET | | | | | | | |
|--------------------|-------------------------------|---|----------|--------------|---------|--------|-----------------|
| | GVRC | | | | | | |
| Project: INNOPOLIS | | | | Approved by: | | | |
| | 33 KVA line towers exca | vation | | Sign: | | | |
| Contactor Name : | T.Kurmanna | | | | | | |
| Prepared By : | T.Madhu | | | | | | |
| Bill Date : | 22-09-2023 | | | | | | |
| | | | | | | | |
| S No. | Item Head | Item Description | Quantity | units | rate | Amount | Item head total |
| 1 | 33 KVA line towers excavation | No of labours worked from feb 2023 to 12 jul 2023 | | | | | |
| | CACAVACION | Male labour | 40.00 | no's | 600.00 | 24,000 | |
| | | Female labour | 40.00 | no's | 550.00 | 22,000 | - |
| | | Compressor for rock breaking | 18.00 | Hr's | 600.00 | 10,800 | - |
| | | Hitachi breakers worked for rock breaking | 10.00 | Hr's | 2200.00 | 22,000 | |
| | | Thracin orearers worked to receive | | | | 78,800 |) |
| | | | | | | | |

| EASUREMENT S | HEET | | | | | | | |
|-------------------|------------------------|---|----------------|-------|---------|--------------|-----------|-------|
| | GVRC | | | | | Approved by: | Madhu | |
| roject : | INNOPOLIS | | | | | Sign: | | |
| Vork Description: | 33KVA line towers ex | cavation work | | | | | | |
| Contractor Name: | T.Kurmanna | | | | | | - | |
| repared by: | T.Madhu | | | | | | + | |
| Bill Date : | 22-09-2023 | | | | | | | |
| | | | | В | С | D | E=AxBxCxD | F |
| | | | | Width | Height | Nos. | Quantity | Units |
| S No. | Item _i Head | Item Description | <u>L</u> ength | With | Ticigit | | | |
| | | | | | | | | |
| | 33 KVA | No.of labours worked from FEB 2023 to 12 July | | | | | | |
| 1 | 33 KVA | 2023 | 10.00 | 1100 | 1.00 | 1.00 | 40.00 | No's |
| | | Male labours worked | 40.00 | 1100 | | 1.00 | 40.00 | No's |
| | | Female labours worked | 40.00 | 1100 | 1.00 | | 18.00 | hrs |
| | | compressors for rock breaking | 3.00 | 1100 | 1.00 | 6.00 | 10.00 | hr's |
| | | Hitachi breakers worked fonrock breaking | 2.00 | 1,00 | 1.00 | 5.00 | 10.00 | 1110 |

Bill for Equipment Allowance

T.Kurmanna Koltur Hyderabad

Date: 16-04-2025

In fayor of:

GVRC

Project / Site:

Innopolis

Location:

Koltur

Type of Work:

excavation works

Towards:

Equipment Allowance.

| S No. | Description | Amount |
|-------|--|-------------|
| 1. | Brief description of work done: Excavation works | - |
| | Total amount = $Rs. 78,800$ /- | Rs 31,520/- |
| | Work done from date 15-03-2025to 05-04-2025 | , |

Amount in Words: Thirty one thousand five hundred and twenty Rupees Only.

Bill for Labour Charges

T Kurmanna Koltur Hyderabad

Date: 16-04-2025

In favor of:

GVRC

Project / Site:

Innopolis

Location:

Koltur

Type of Work:

Excavation works

Towards:

Labour charges.

| S No. | Description | Amount |
|-------|--|-------------|
| 1. | Brief description of work done: Excavation works | |
| | Total amount = $Rs. 78,800$ /- | Rs 31,520/- |
| | Work done from date 15-03-2025to 05-04-2025 | , |

Amount in Words: Thirty one thousand five hundred and twenty Rupees Only.

| | | Sign: |
|--|--|-------|
| | | |

Bill for Consumables

T.Kurmanna Koltur Hyderabad

Date: 04-04-2025

In favor of:

GVRC

Project / Site:

Innopolis

Location:

Kolthur

Type of Work:

excavation works

Towards:

Consumables

| | Designing | Amount | |
|-------|--|-------------|--|
| S No. | Description | | |
| 1. | Brief description of work done: Excavation works | Rs 15,760/- | |
| | Total amount = Rs. $78,800/-$ | | |
| | Work done from date 15-03-2025to 05-04-2025 | 1 | |

Amount in Words: Fifteen thousand seven hundred and sixty Rupees Only.

| | | Sign: |
|--|--|-------|
| | | |